Multibody Dynamics
Exercises #4 Answers
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b) Absolute coordinates:
Translation constraints (6 equations)
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2. a) Relative coordinates:
Translation constraints (8 equations)
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b) Absolute Coordinates:
Translation constraints (8 equations)
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Rotation constraints (6 equations): |“w, = > @y eg | |foy =D oy ey | |Foe =D oy e

i=1 i=1 i=1

10 o]|®| (o) 2 o o7 | % o
{0 0 :J Wpg, :{O} [O 1 0} Dy, _I:RM:H:RB] Wy, :{O}

W )5 Wy

' W'
0o10]| oM 0
o o 1) feeefTrelm fohet |- o)

2 (2

Kamman — Multibody Dynamics — Exercises #4 Answers — page: 2/2



